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SECOND YEAR MODEL EXAMINATION - FEBRUARY 2018

Part - III
Maximum: 60 scores

Time : 2 Hours

Cool offtime : 15 minutes

No"

SE iI

alt questions from L to 5
1 score each)

1. The biueprint or phototype that defines the

properties and behaviour of similar objects

is called.....

2. Write an example of a dynamic data structure'

3. Which is the default port number of FITTP

service?

4. :{'he attribute required in the <A> tag for
interrrai iinking is .........".,.,..

5. SFTP stands for (5x1=5seorQ

Answer any nine questions from 6 to 16

(2 score each)

6. What are the differonces between array and

structure in C1'+?

COMPUTER SCIENCE

HSE II - Computer Science'. l/4

onn3 o3oroi mcmf ooooegE! .{Dfl ] 8d)rJd,Bd€oeo

Ootooose3oea t0ut6rd 1 ollolo)

1. ruarmcufiu'osoogaosfiDlBlofilsooo-lcflalQolJo

nfl dqoilao3rm GSolscoloo ......... "pme 
oilgllaoarma.

2. oorumcsl€; ruopl fiDl€b-olriloofl pnc"o{?6rno n$leJ

oa6.

3. HTTP crruormorurloaf, nulc.olr0$ clcd$ mrnr0

.'0J0l6ffi ?

4. pa0cof,srno8 eile,louflm3"reolril€oefin <A> scuflfii

GOOrdo ecuern ror6g$0u.135 "onotcom". t

5. SFTP erm rru3"fl.cileo]rm3. (5x 1= 5 score)

orgo3 o3oro0,.t ofl mm" ooocue@ ogloooioflo o{I0oi oI

Gdl$fi,r,u6€0" gotDoose3o36, (fiuto,l6 z ofloro)

6. Array aDlo Struoture Oo orolela@ o{olJl{Tuo

"0rrmcsnl 
a

General {rustructions to Candidates :

. I.here is 'Cool off time'of 15 minutes to

ihe writing time.

. t-lse the 'Cool offtime'to getfamiliarwith
questians and to plan answers.

* Read questions care.ftfil,r- before

a.nswering.

. W?ite onswer to the specffic number of
questions as instructed.

" Cctlculations, figttres and graphs should

be shown in the qnswer sheet itself.

" Mala.yalam version of the questions is

clso provided.
. ()ive equations wherever necessary.

. Eleclronic devices except non

programrnable calculators are not

ollorved in the Exawtination Hall.
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7 . t{or,v can you create a dynamic array of size
N, if N is inputted by the user?

8. What is the advantage of circular queue over
linear queue?

9. Diflerentiate alink and vlink atrribute in
bocly tag/

tr(i, Correct the javascript code fragrnent given
below to rlisplay the value entered in the text
box.

<form Name : 'myform,>
<input a number <input type : ,,text',

naine:num>
<input type : "button" value : ,,check',.. 

.. .. , .>
< /florm>

lunction J\{yform0

{
num =:

alert(num);

)

1. V/rite any two mouse events in jar,.ascript
iind its description.

2. Wiite short notes on primary key and forei_en
key.

3. Consider the given table pRODUCT and
answer the fcrllow.ing questions in relational
algehra.

a) Select ali details ofproduct where quantitl,
is above 60 (l score.t

b) Select Pname and Quantity (1 score)

PIN Pname Quantity Amount
I Pen 20 40

2 Pencil 30 BO

5 Eraser 70 90
4 Sharpner 90 t20

Why do we need PHP script in Webpages?
What type of output,,is generated when a
FHP script is processed?

What is e-banking? What are the areas where
e-banking is effectively utilized.

('9 x ) -- 16 score)

6. What in GIS ?

(9x2=lSscore)

7

tt.

9.

10.
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o3nud pnt.La$'o-qiCIrk; N n0m orlFJA gcJ€Gllir)la1", nr

oomomj O&D blrde oroeuentaloi tln,so OirrBj€o3&.

"pno' e:ramno o636rBlflj rudao3ejrrd q1; erflrnlnad

a13 o:1 c m eor<ri oloalror*r3 on roi.

con-r-.ol-,t s:ufrois raEl$l*41393agru alink go viink po
ormla;eg n{QJ3nlre 

"groo z

Texr Box-0tr Enter 6)-ei(}l.to) rut2.1; rrlilnnth6i OuqgrrnrOi)
m:orl o:op nnnnkdleo3cm ca:nLt nu"1_al,"trj ea:rLu"
eilo;rooSan

<form Nanre'-= ',ry tbmr'>
<input a num'ber -<inpute t),pe : ',text,,
nalne:ntrDt->

<inpu t type : "huflon" vatue -',check,'.. ",....--
< /fonn>

function Myfonn0

t

nuln:
aleft(num);

I

u:<rLl cru laln-r"o"iera,.,4p elma$lnLfi o r? olIB. O entl grurfi rni
culorialao3a.

primary key orrur .i--l3die1;o fbreign l<e1, omr

e,3d43o El"El Jomd nrlot a1oo3e,.

o:ro s onril al,oer3rn PRO D {"r CT ne irr: e g si1'l gfl 51 rn

rgn si rn:n.. m q : oeil r"il,: et,.g 6m rufr o : li eel 1m I g,,r s eo; : o,i 4
pffitoia{}l09aioA€,.

a) tluantity or: eraanru0 e,Aslotpjjgsj produci
o,gaos or'ltnnromouncrd oiiraootoms;oo 1at. {! sutre)

tr) Pname, Quautity "4rr.rflo.r 
0J(o0 oilco6r0ro.jJ€0a6

(l score)

PIN Pname Quantity Arnount
I Pen 20 40
2 Fencil 30 80

3 Eraser 70 9A

4 Sharpner 90 120

ao3 ocum.l e-islo0 Fl-lP nu"1a1"iq;lnnfl oOcrtgolor

"prrorsnir P H P m:1*il i r; elalnu gqi +r rL fl)io; a sl u)a

erniirf, p:reiaa;crn r:u$j"i;S- 
"Or,nrom"l

"pnoi:;orri e-bauhiilgi' e-hankilig 
^nntl"inorrni)

plectr:rn1ao:nd a,teiotgrm enoue:ard .Soolo60
or:eni a

GIS "qrmlod "6irroiz

11.

12.

l3

14.

15.

16.
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.{nsruer an.v* mine questions from 17 to 27
{3 score each}

i7 " a) What is nested structrue? e score)

'o) Conider the follorving structure deflnition

.-stl:r-rct Student
(
I

tnt rno:
char Name [20]:
char dob:

1i ('2 ,score)

Horv can you implement the concept of
nestec{ struchu'e using the mernber ,dob, 

?

X 8" Explain any thrce concepts of object oriented
prograrnrning?

X9. Wl'ite an algorithm to remove an item from a
Queue'?

2Q. {-ist and explain any three attributes of
'IAI3I-E tag in HTML

21. What erre the different ways to add javascript
in a rvebpage?

22. Whatisr::reantbywebhosting?Brieflyexplain
any two pages of web hosting?

)3. Ejxplain di{f,erent level o{.data abstraction in
L}BMS'I

24. Which constrainrs are usecl to define the
follorving cases in SeI-?

a) set a flelct to ur:iqueiy identi$, rows in a
table.

i:) incrern ent th e val ue of a fi el d automatically.

c) set the valule of a {ield to be not null

5. Consider the data given below

Data in first array : 12,36,29,34,49

Data in Second affay : pen:35, pencil:40,
Eraser:5, Brush:25.
a) Name the suitable types of arrays to store
these data. ( I scare)

b) Write the PIIP code to create these arrays
to store the data (2 score)

nrolcmC o3oro0 po3.rroufl coC osromr2gg ogtnmra*l*l;*
a o0rrr roi c -er g oon rd ao' g ono oo a geo3 o,, t m?,e, t rfr. B ru.i ir,o;,r i

17. a) nested structrue 
"6anlrrd *pa.tr.,. il .,r{::,,1

b) rono v ot oi, o1eer3 m stru c,ture r{efi n i t 
j or: L(0,Lilij.rlj i

struct Student

{
int mo;
char Name [20];
char dob;

) r'l ,stt,i'1,)

' dob' 
"p 

cm o a cur0 pn-te o:o1 4 r-lestr: ii s1rui" i rlr.r:,

ognn Grgtaoro o.060BOm in5dl'l$j&6j3c

1 8. object orientecl programnlrit!{ f,a,{B6j{i}r&:iit:,;ir
a3rm' rcg m oeonr.d oilcaok*raleer;1o.

19. Queue-rod aim3o 610l oagQo fll'Jd]fio srjit;.)iritilii.l
ono8ernroloto o0 93(038,

20. HTMLoa TABI-E sceolml gil€(t lrrl+r6i;rir, 1,i:t!iilij.,

e,1 a 3 o a 3 cni rop 1sl on1 3 $rni1 el rn er,l g ril g riii I'l I fi ] rirj,,, rr ri,,,

oe6.

21. Webpage-ruE Javascript prrdot,ts3onr3.rr,riln;:;irt:

cu.1ro;au"ol crL el e r0 n4to m.r:o ooo:nri

22. Web hosting 
"gronlrod ^6rrmi i o6r;mailni;c ri:i;r.;,l

oroo Web hosting omeo3n19j rilmr:Irriil .Srs;,ir)ri,g

23. DBMS oa e,Ioilcl'a:leLrrrofleLagl da1..i ail6i.i.lr,:lii,i!
omeo3dl 4 oL1 trr nlo ra.1aer3 o.

24. roco e ol on'l o'l €oACm edlruco8ffd d$)" ma c [t :r;): sr j.r :rri

SQL constraints 
"gru3o:go.

a) ara3 fleld orrfl rows m;ollcua,.r.rrjul rlt-,rii.;rri,l.,
oL3cm oLlooroflrud ero3 field oror.lEi oi-qieq6

b) ao3 field oofl ollEJe rnl€s(uull iaut{rini}!-r:Jltii,,,,
ctdrur1.rfloo3e

c) oo3 fleld onfl rxlell rr?ilcoJo r0tro6)jttrrs) (ni:t u:rt:i
ojln.loroj}od set ootq3o

25. olos ntom)erm enr:p luanuloo;r+

GoBjoCIm GEeOArOel €QUo : 12,36,29,34,4&

ocrBczooto cneoojloe.r cru.rn : perr:35,
Pencil :40, Eraser: 5" Brustrr =., "li:.
a) pc eoup rru"egld {;)oieirrtr"rfr {i.Taf ,;f ffir:sljti-jiil)
PFIP Amay 

"prorloni o0ocrn'sioacs. I / ,r,:c,i"*:.1

b) pc emp nu"cglrd o_otq3anrorlmroi.| pl:tI, r,a,;r,,,.
g.tcollolgflArrr]y O6rcJd]oa6 ( 2,scitt,:,,

26. Distributed computing npmrrofr asiri?*;irirl .

"p 
o ror e1 et 3 o o 6I1f a I OI fj),CI, d Ojl (,a Bl e ilii.$,i :l 

"ur

What is rneant by distributed computing ?
Discuss any two distributed computing
Faradigms"
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7. What are the different types of interaction

between stakeholders in e-Governance?

any two questions from 28 to 30

score each)

a) Why do we need dYnamic webPage?

Give an examPle.

b) What is the role of webservers?

c) Differentiate static webpage and dynamic

webpage

a) What is the use of rowspan and colspan

in a table in HTML?

b) Correct the given HTML code to get the

ou@ut as shown in the figure.

< html>
<body>
<table>

<tr>
<td align: 'centre'> science</td>

<ltr>
<tr>

<td> Rollno<td>
<td> name<ltd>

<ltr>
<tr>

<rd>1</td>
<td> Arun</td>

<ltr>
</table>
</body>
</htnl>

Science

Roll no. Name

1 Arun

2 Aliya

(2+3:5score)

Write SQL queries based on the table

EMPLOYEE given below.

a) List EID and name of all employees

b) Find all employees with Jobcode TA1

and Salary greater than 39000

c) Find all employees whose name begins

with letter D

d) Delete all employees with Jobcode ME3

e) Display the details of employees in

ascending order of salary (1 x 5 = 5 scorc)

EID Name Tob Code Salary

1876 Syam ME3 45000

1114 Abdu FA5 32000

1556 iohn TA1 39000

1354 Dhyana TAl s0000

130 Dhanam MF,3 42000
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ffi

27. e-Governance Smoo@Bu0 paeollailao3rmotd

orm1o0 oCIooloao rorootoiler3gq psonrset36,u0

(interaction) orgoni msoto3rmoi' (9'x 3 = 27 score)

za o3ord 30 oocqDe@ csnrUonEilo0 cilrm3o 
'4oroD,1et3o

oor{ conq;mdao' gomooqe3o3o. (rru"corr0 s olloto)

28. a) .grrnncenf dynamic oosnl cadlstofl GrgoltnJo'o ?

8Ce gmo0GfrDo n$91{0l6r

b) ooorl oru6o03o,geos 6sa 
"grcrorcon?

c) Static ooml cntoo3o dynamic ocusnl cnlu3o

orailo3g oJo[]tTuo .'gr notlorn".

29. a) oo3 HTML csonilglo0 rowspon Qo

colspan Oo r'4rro1m3cc[orfl O'reolol€oAme'

b) sil Urorrorolo0 omril+fl rolao3mo3sollo el oe5"''n3$

errileo3orxr0 GrgosaJalo oflo3oro'rqen0 HTML
colrujlo0 ooeololea,.

< html> --'+oaY, ''-'-
<tab1e>

<ff>
<td align: 'centre') scionce</td>

<ltr>
<tr>

<td> Rollno<ltd>
<td> name<ltd>

<ltr>
<tr>

<td>1</td>
<td> Arun</td>

<ltr>
</table>
</body>
<ftrtml> (2+3:5score)

30. olros rormilaileoe cssnilgilom cndlmrocmaceei'l SQL

query euo.4U3tOt3e

EID Name Tob Code Salarv

r876 Svam ME3 45000

tLt4 Abdu FA5 32000

1556 Iohn TA1 39000

t354 Dhyana TA1 50000

1 130 Dhanam ME3 42400

Science

Rollno. Name

1 Arun

2 Aliya

a) .OCll emceileoto3osorlo EID olJo rlomo po

1"inr0oa1.dleo3e

b) Jobcode TA1 Oo @fiuPo ggooo-eocd

aASAoelS0lo3gg ceceilaooo a,o6rBoloe6''

c) D .,grrm Gn€flcomlo0 name oes6uBam o$S3

€gleil€olo6culo 6rosIBGtloJor

d) Jobcode ME3 rsroo,le3gq celeileoloo rnleoo

odqe6,.

e) ,OFJI GEnlejl€oloe€soao oilocCIlr0 salary oSos

GO€clo06rD Lo,oo0,lo0 o,36frfl€oeor' (1x 5 : 5 score)
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